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O-ABCD (410 i %). 1 4[| ' 19 5 % OAB (410 B #9)

#10)
FER XY A BEnmBdn Bl Y BER
(-AB (410 [g ).

R2 HREHBOBRBASINHEGRARNEE



68 LA A S )

Eﬁz-—‘%*ﬁﬁ%ﬁ-
T35V B a9 #8 RS TR OB T B 69 T AR B
TR 09 418 = A 2 — 69 4 A
REBRWERCBELAENE HBHRB 1 G 2
B I VSR T B 60 B R, B
C=2wR, Z=2wRE.
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P
B H=BMMEB e b
A 3 C E
(il ED M A= F I (413) ‘
& AT S M, 4 M R EEBE du o2k
u)§§ ----- s A §9 T 3 (sine), 2 du L =sin 4
2 iﬁﬁ M A 8y %2 3% (cosine), F8 4n —g=cosA
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% 38 b M
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fn BbEE M MR = A I B
[EE—~] = AEBEBRER
(@& =] sind, cos 48 7 % 32 25 5T 5% 49 — M,

Bk B 8 A0y IE 54,88 5%+ 3F JE sin B 4 69 40 TR L8
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[R1] 413 E b R a=3b=4c=5 AIHAM=A
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(R 2] An 4138, % B s = f 99 W28 (77
8 HARWMAMZHEHN LA mBTWE

M 2, e A g gk 4 ey = )

5 15 U .
B AABU 2 O
ﬁﬁﬁMﬁAﬁﬁBA/////T

HREf AL B=oU-4
[N i U QORI 3 < i (415)
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xe

sin A=c0g(90° = A)=cos B

cos A=sin(Y0" — A')‘= sin B

tan A =cot (30°— A4) = cot B

I

cot A=1an(90° - 4)=tan B ’
gsec A= cee(90°— 4) =csc B
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24 SRR 45 09 7% 9480 U8 B & TE 3K TE 40, B AR LS.
[M1] & sind=2, tanB=2q fy A % f B fufdl
1% e
(2 AWk 54X © 89 1 o 2
(1) sinz=cos 50" {(2) cogz=gin T0%
(8) tan Sz =cot Tz
R A/ M AERAE B A —3AD &
— B B s AER R A 5

HERECEAEMIEE R Lk N
B ASAIEABC — % AC &
c -b A B
BB (-b), 8 A% 8 AW IFaE (416)
HMEBRBAANSBE=AEHE B
sinA:—a-z—, tanA:—E_, secA=—~?,
¢ b b

cos A= —i, cot A= —-—i, csc A=".
¢ 14 a

A HAMM AR IBC-A B BhSHOHAHEE
X 3% B BoA 3 A HCH A e = 8 R ey B GR 4o 20
sin A=8in(180°— 4)  cos A= —cosg(180°— A4)
tand = —tan(186°— 4), cot A= —cot (180°—~ 4)> ({IIl)
sec A= —sec(150°— 4), csc A=cec(1€0° - 4)
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th (L 7T 66 %6 69 = 49 B8 2073 1 3040 A (R ) 19
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87. BHUAMZAEH
(1) 07, 90% 180" #4 = 48 1% %%
iy 85 7k (D [413 B 1.3 C /5 5 0.7 0 a, b 4 31 55 5 3%
AN f A Bl 2 T S0k W5 o 25 48 ) B0, B J2 O 3
8 B Bk — i b A W e, 55 A B H 0.
$in 0°=0, tan 0°=0, sec 0°=1,
cos0'=1 cot 0° =0, ese 0’ =40,
b RO, I R C S WA — i e A
e fi A R R 90,
gin Y0 =1, tan 90" =, sec 80° =0,
c0890°=0,  cot 90°=0, ese 90°= 1.
A i 86 3% (I1T) 4
§in 180" = sin (180" — (") = sin 0° =0,
¢0s 180° = c08(180° —-0°) = —cos8 0'= -1,
tan 180° = tan(180°—0°) = —tan 0° =0,
cot 180" = cot (180° — 0°) = —cot 0° = — o0,
sec 180° = sec (180°— 0°) = —sec 0°= — 1,

cse 180° =¢se(180°—0") =cgc 0° =00,
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) W= HEB RE RS 5
B = A% ABC d1.3 C 15 i 5,80 |
LA=LD=45 ¢ |
B BO S o W BUO=AC=0 ik Mg |
EH 4 AB =V 2a. (417)
e sin45°=7%=%=cos45“.

tan4h° = —Z— =1=cot 45°,

e a2 —= .
sec 45" = 4 =4/2 = cgc 45°

(3) 80" % 60° fy = £ 1 1%

B IE = f  ABC 89 T 8 B, 1k

JK#BAC IR BD, Bl i =
fa 7 ABD th

LA=60, L ABD=30"

HZAB B a Bl AD:%@, D.._I’a,
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X

[ii'd sin 60° = %ﬁ =cog 30°, cos 60° =

tan 60°=v/S=cot 30°, cot 60°=_-_= tan 20",
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sec 60° =2 = cse 80°,

VYRR R EN RS

csc 60° = -—2—. = gec 30°,
V3

ﬂ]\mﬁ sin ; cos fan cot gee cse
™ 1 )
}
[
o (] 1 0 @ 1 o
; 1 V3 1 m 2
30° = s — V'3 —= 2
2 P A3 V8
o | V2 V2 1 1 e V3
2 2
. V3 1 = 1 2
60° Yo = A3 — 2 —
’ P R V3 V3
90’ i 0 o 0 =) 1
180° 0 bo- 1 -0 - -1 oo
]

[ 1] sin45’, cos 30" 35 5 = /) B 5 M fy, K 1f 4

fi7?

(R 2) 120°,135° 150° 89 = £ 6 B 4o 777

8 EEHRAMCSAEH FLEN KN E XS
B LIS 0 8 M, = A B B8, B 86 3k (UD) AR
8B 0055 = 45° 60 WAR gk Ik B BE 5 47 by 3L s Ao 44,
BRAREEUKEEBER—EN= A5 KR
gedn O VS A B IR B
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g"]\ﬁf\?! sin co3 1 tan zob
0 0.0000 1.0.60 | 0.0000 | 90°
1° 0.0175 0.9998 ¢ 0.0175 | 57.290 860
90 0.0344 c.69%4 | 0,0349 | 28.626 /o
P 0.0523 0.9986 0.0524 | 19,081 87°
.40 0.0698 0.9976 0,06 9 14,301 860
5° 0.0872 0.9962 0.0875 1.430 85° .
6° 0.1045 0,045 0.1051 9.5144 840
7° 0.1219 0.9925 0.19228 8,1443 8350
g 0,1392 0.9903 0.1405 7.1154 goe
9° 0.1564 0.9877 0.1584 6.3158 81°
10° 0.1736 0.9848 0.1763 5.6713 80°
11° 0.1908 0.9816 0.1944 5,1446 740
1%° 0.2079 0.9781 0.21%6 4,7046 78
13° 0.2250 0.9744 0.2309 4,3315 77°
14° 0.2419 0.9703 0.2493 4,0108 76°
i5e 0.2:88 0.9659 0.2679 3.7321 75°
16° 0.2756 0.9613 0.2867 3.4874 74°
170 0.2924 0.95463 0.3057 3.2709 78
1s¢ 0.3090 0.9511 0.3249 3.0777 750
1%° 0.5256 0.9455 0.3443 2,9042 71°
20° 0.3420 0.9397 0.3040 2.7475 70°
21° 0.3584 0.9336 0.3839 2,6051 65°
220 0,3746 0.9272 0.4040 2,4751 68°
280 0.3907 0,9205 0.4%45 2 3559 67°
24° 0.4067 0.9135 0.4452 2,2460 56°
‘25° 0.4226 0.9963 0.4663 2.1445 65°
260 0.4384 0.8088 0,4877 2 0503 64°
7e 0.4540 0.8910 0.5995 1,9626 ° 63°
28° 00,4695 0.8859 0.5317 1 8807 640
29° 0.4848 0.8746 0.5543 1.8040 61°
30° 0.5090 0.8660 e.5774 1.7321 60°
31° 0.5150 0.8572 0,009 1.65642 560
82 0.5209 0 8430 0.6249 1.6003 58°
33 0.5446 0,9387 0.6494 1.5309 57°
340 0.5592 .829) 0,6745 1.4826 56°
35° 0.5736 ¢.8192 0.7002 | 1.4281 5%°
36° 0.7878 0.8090 0725 | 1,37u4 54°
37¢ 0.6018 0.7986 0.7536 1.3270 58°
38° 0.5157 0.7880 0 7813 1.2799 520
89° 0.6293 0 7771 0.8098 1.2349 51°
40° 0.6428 0.7€60 0.8391 1.1918 5¢°
. 41° 0.6.61 G.7647 0.3693 1.1504 46°
49° 10,6691 0 7431 0.9004 1.1106 48°
43 0.6820 0.7814 0.9325 1,0724 470
44° 0.6947 0.7193 0.9657 1,0355. 46°
45° 0.7071 0.7071 1.0000 1,0000 | 45°
¢os sin eot fan R
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AT R P G 54 [ A RS — Bk 1.4826, B & Bt ok 89 B .
&= % sn70.
W BERAET—HREsnfTRAERL N E—
T o B A 707 [ B 64 — 85 0.9397. 8 4% Rt ok B9 B -
I =. =¥ cosz=03907, F
$2. MR E T — Bl i cos 4 f7 AL4E 0.3907, H iy
AT I 5 — AT P 6T AR B B e=0T"
BIM. % tan 47°25"
2. 47°25 6y IE ) 5 HAE 4T SR 487 69 TE ) b AL R
4 1
tan 45°=1.1106
tan 47’ =1.0724
H 30,0352
JEE P A ko0 A E A PR A EAT E
R 20, U d A E N2 0 By E A
60" : 25 =0.0382 : d
By k5 d=0.0159
% tan 47°25 = tan 47° +d
=1.0724+0.0159 = 10383,

Gl F. tan=0.4320, 3% =.
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2 BRS040, HFW Rtan fTA X/ B,
— KB Ml — /Y ik

tan 24° =(.4452

tan 28°=0.4245
H 3 0e000.0.0207
Ve SR W R 69 3% 60 1040 A 9 B U B R 0.4245 M E R
0.0075, # VL y 3¢ 48 & > Bk BH B 6y 2 09 A A B AT
1°: y=0.0207 : 0.0075
th e 4% y=0.36"
i% z =23+ 0.36° = 23.36°
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(1) 6 8= 47 ABC th 3 a=8, b=15,% £ A 8%
iE W% R # T

(2) FEF 1= fTY ABC dg b=2,c=V11, R 4
84 IE U] & 6 .

3) FEHE f1= A ABC 1,3 a=Vmi+n? c=m+n,
k i Bay IE R KB WL

() =¥ sin A= _55 c=2005, % a.

3) # A=80" b=25v3,%ke.
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() =¥ B=45",a=20, 3k b.
() RUEBXNEF=ZAEBBR A=A HB:
(—) es218%°, (=) tan 165°20". (=) sec 102°45".
(8 RK A BB B E:
(—) 8in128°. (=) cos 160, (=) cot 139",
OE 3 &K F-¢
(—) sin 106°=cos 16, (=) cos 148.8"= —cos 31.7°,
(10) By & x40 % 19 By fi:
(—) 8in 51.6°=0.7836. (=) cos 79.9°=0.1753,
(=) tan 27.42°=0.5188. (M) sin 43°18"=0.6858.
(F) cos 84°42'=0.0924. (5X) cot 11°43.4' = 4.3264.
(1) RBE AR XA E 6 Be 2

(—) sin 2 =0.5280. () cos z=0.9850,
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ﬁff»,ﬂﬂ fr 7] ? C
W ERRGBER
b a
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o A A snB b % smd wnB
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5 c=d1+d2=bcosA+qcosB)
] 2 " a=ccos B+ beos ;o (V)
b=gcosC+ccos 4 S '

BT 4208 A
at=0*+c*— 24D [k 7% % #1105 7 2]

18 85 2% (D) 4n AD=bcos 4
[ivd a%=b’4+c*— 2hc cos 4
b4t
Ep cosA*T.
2 2 __ 12
F&]ﬁ ¢os =Q—Q%d o , (VD
__a2+b°;;c?
03 O = 5
81 M=ATHEH B
) mEA="E ¢ .
Bl —op. & =12, a=6 3k
C
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12 2’
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BT & a=80, LA=T5, 5k LB,
¢ b

2. RLA+LB=°0"# LBR=90"=T75
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=15°
P [75°
W sin A-—,, e AT
(422)
__a _ 8 _ 8
sin 4 sin7a°  cos 157
Ex S L) QO
¥ 22 1% cos15°=0,9859, #%& c—— -—8282

0.965

4 t,‘"' A:i’ = @ == 80 = 80
W tand = #l b= S T T ot 15

e e 1% cot 15 = 3.782L, e b= 00 =144
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